i)Y zaliad) 2840 (1o alad) J2a Jiasd a3

55 9 ST lgid) Ol ali

alod] & I Jail] 6= cbd & pasiad] pie (GBI Caall ¢ Al Loyl zeliad] & zaliad] 2850

09:36:55 2024-05-19 :zaliol| 28 calod) délo) Zo i

lae | ave calac

clsl ) a oo dall) i 423 aall) dno N dy il

eloiaill e (e dgimmall g ol 3
o) a0 sa gl SV (S LY i) 4



https://almanahj.com/ae/id=25593
https://almanahj.com/ae/15physics3
https://almanahj.com/ae/15physics
https://almanahj.com/ae/15
https://almanahj.com/ae
https://almanahj.com
https://almanahj.com/files_by_day?country_code=ae&date=2024-05-19 09:36:55
https://almanahj.com/ae/teacher_id=1234
https://www.facebook.com/groups/grade15uae
https://www.facebook.com/grade15uae
https://almanahj.com/s/3771d1
https://t.me/almanahj_bot
https://almanahj.com/ae/network15
https://bit.ly/3cm089z
https://bit.ly/31lsaeS
https://bit.ly/3rqFfOG
https://bit.ly/39dNAz9
https://almanahj.com/ae/id=25414
https://almanahj.com/ae/id=25385
https://almanahj.com/ae/id=25380
https://almanahj.com/ae/id=25341
https://almanahj.com/ae/id=25341

) Jrasd) (8 elud saladly pasiad) pic (S Chall s culalad) (pe 2y jell
| ] sl (8 apgllaall g ol | 5 |



https://almanahj.com/ae/id=25151
http://www.tcpdf.org

( ...................................................................................... i ,m)

EIN TIN
In Physics

L A




clijrall :nd alicuil

PART _1

2022 —-2023

(olnc Goaylayc /|

(0509886279




Faraday’s Experiments
1. Which of the following diagram is not correct according to Faraday's experiments?

- —
.‘.—“—— -
Magnetic_flux

2. According to the figure, at which (e) the magnetic flux
equals approximately to (0.8AB)?

@ 90 ® 37 © 53 @ 74
Induced potential difference
3. When can we use the following equation to find the induced potential difference?
dA
AVind = —Bcos BE
@ AandB ) A, B, and o (© eandB d Aando
are constant are constant are constant are constant
lenz’s law
4. Which of the following diagrams is not correct according to Lenz's Law?
@ ©
® @

INCTeasing




Induced ppotential difference as a function of time for a: generator

5. The figure shows two graphs representing the induced potential difference as a function of
time for two generators. Which of the following rows indicates the correct type of

generator under each graph?

Figure (a) Figure (b)
A. | a simple direct-current generator a simple alternating-current generator
B. | a simple alternating-current generator | a simple direct-current generator
C. | a simple alternating-current generator | a simple alternating-current generator
D. | a simple direct-current generator a simple direct-current generator
Generator and Moftors

6. Which of the following is correct about the generator and motors?

@  The motors transform kinetic energy into (© Generator that produce alternating
electric energy voltages and the resulting alternating
current is also called an alternators
b  Generators and motors are not applications () Generators contain loops in a
of electromagnetic induction magnetic field but motors do not
contain loops in a magnetic field

Induced Electric Field

7. For a positive charge moving in a circular path in an electric field, the work done can be
expressed as (W=2mrxE).What does x represent?

The radius of () Induced electric field (C) The magnitude (d) Induced electric current
the circular path of the charge

Self-Induction
8. Which of the following is not a unit of inductance (L)?

Tm? ® H © V.A @ V.S

- BAS: | —

Magnetic flux
9. Which of the following is not correct unit of magnetic flux?
HA ® T.m’ C V.s @ H.A/s

RL circuit

10. According to the figure that shows closed circuit for a long time, if the circuit is opened,

what is the current in the circuit when time is equal to the time constant o8

(from the moment the circuit is opened)? o Blav,

25V

1

Battery

@ 0.32A () 0.70 A © 0154 @ 0.18 A"



Constant (7) in RL circuit
11. Which of the following is wrong regarding the time constant (T) in RL circuit?

(@ The time constant increases as (C) The time constant decreases

the resistance decreases as the inductance increases
(b The time constant decreases as () The time constant decreases
the resistance increases as the inductance decreases

LC Circuits
12. The figure shows the variation of current as a function of time for a simple, single-loop
LC circuit. If the maximum value of magnetic energy is (16.0milli-Joule)
what is the magnetic energy at time (g)? - *__/_,_ “““““““““““

@ 256 milli-Joule © -4.0 milli-Joule © +4.0 milli-Joule d +16.0 milli-Joule

Alternating current circuit

13. What is the phase difference between the current and the voltage in a single-loop circuit —
with a resistor and a source of time-varying electro-motive force emf?

i
@ 0z ® - © o ] d -1
3 2
Single-loop circuit with a resistor and a source of time-varying emf’ N

14. The figure shows voltage and current phasors for a single-loop circuit containing a
source of time-varying emf and a resistor.Which of the following expresses angle Z?

@ r b w? © d o

Power dissipated in a transmission line:

15. Consider a power plant that produces (360MW) of power. If the power is transmitted
at (300kV), and the total resistance of the power lines is (6041), what is the power lost in the
transmission lines?

@ 86.4MW b 72.0kw © 2¢4.0MW d 1.20kw
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1. A solenoid's inductance is equal to (3.0x10 =3 H). Suppose that the length of the solenoid
is increased to be three times its original length, and the average cross-section radius is

reduced to be one fifth of its original radius, while the number of turns reunchanged.
Calculate the new inductance

2. A long solenoid with a circular cross section of radius (r:1=0.05m) and (n-800turns/m) is
inside and coaxial with a short coil that has a circular cross section of radius (r2 =0.10m)
and (N=7turns). While the current in the long solenoid is increased steadily from (0.003A) to
/over (0.6millisecond), the potential difference induced in the short coil is (-0.4V).

Calculate the current I

~

3. A long solenoid has a circular cross section of radius (9.0cm), and length (17.0cm). The
number of turns in one meter for the solenoid is (3.2x10%) and it carries a current (0.5A).
Calculate the magnetic energy stored in the solenoid.

1. The figure shows an oscillating LC circuit. The maximum charge on the

capacitor is (9.0uC). CFeauBl . 1=3d0%F
a. find the energy stored in the magnetic field of the inductor - 9
4. when the charge of the capacitor is maximum.

b. Calculate the energy stored in the electric field of the capacitor

According to the figure below, the number of the primary coil turns Np in the transformer is hidden:
5. Find the number of turns Np. '

-

Np

— () e
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